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58,627,559 50,703,503 7,924,056
48,986,516 45,717,535 3,268,981
5212 3R 2A(XE3) 48,272,387 44,570,111 3,702,276
5213 &M P2 (XA 3) 714,129 1,147,424 -433,295
8,140,162 4,087,428 4,052,734
5241 ng2H+2 (X2) 8,140,162 4,087,428 4,052,734
1,500,881 898,540 602,341
5251 JIEtXI @3+ (X2 3) 1,500,881 898,540 602,341
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25,060 10,060 15,000
5321 LEDIR S 25,000 10,000 15,000
5322 N &JIIR= 60 60 0
439,806 446,500 -6,694
439,806 446,500 -6,694
5411 Ol Kt==< 308,000 308,000 0
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5414 JIEt24E 2 +=9 131,806 138,500 -6,694
5600 2SS 20t A=7LNH 10,805,875 9,984,558 821,317
5610 2tEHI =A== NH 1,878,439 2,355,570 -477,131
5611 MEtE Rl (MEE A 2EEH|) 1,735,979 2,154,370 -418,391
5612 WE2H 2 (AstEAEH|) 111,200 111,200 0
5613 J|EtatarE &A=l (ArEHE 2 2HF HI) 31,260 90,000 -58,740
5620 24tZH| =AU H YN 8,927,436 7,628,988 1,298,448
5621 AR s=Ql(X&Z2tEHl) 8,492,382 7,326,274 1,166,108
5622 nE2H+A(XE32EHI) 398,075 268,214 129,861
5623 J|EtXI & S+ (X & 32t ) 36,979 34,500 2,479
2200 MR so=z0lstiia A 80,000 150,000 -70,000
2210 R 1+ 80,000 150,000 -70,000
2211 dUHESSASIHA 80,000 150,000 -70,000
5500 JI=2| Xt= 37,905,128 30,479,292 7,425,836
5510 JI=2 Xt= 37,905,128 30,479,292 7,425,836
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Az 2= 220040 (A) =040 (8) g
- = (A - 8)
121,806,378 105,408,732 16,397,646
SRS 73,750,925 73,285,906 765,020
SEEHINZRENS 11,720,421 11,640,987 79,434
4111 olHH|(AtEHE ™) 5,778,493 5,688,804 89,689
4113 SHMOI24H| (MEHE ™) 650,640 710,640 -60,000
414 ARTHEHI(AEHE ) 1,243,165 1,444,560 -201,395
4115 (P ESH| (MEEE) 2,941,637 2,492,997 448,640
4117 ARG (MEHE ) 286,246 306,246 -20,000
4118 IEARINLY| (AtEHE ) 450,000 515,000 -65,000
4119 HRAIE ZHIHI(AHEHE =) 370,240 482,740 -112,500
SEEHINZRES 1,231,904 794,918 436,986
4121 QIHAH|(dHEH I R) 227,000 165,000 62,000
7123 TR (EEBE) 211,000 7,000 200,000
PRI E= T [Ny 793,904 516,918 174,986
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4140 At AHI RIS R EH 600,000 600,000 0
4141 (et R 2 e s 600,000 600,000 0
4180 Lt EHINIS R EN 198,600 250,000 -51,400
4181 JIEtAEHE & 198,600 250,000 -51,400
SORBNSRE 55,672,806 47,628,767 8,044,039
4210 NI 2 SAtEI == ENH 46,482,864 41,873,288 4,609,576
4211 QIAHI(XI 2 AL) 10,547,565 9,942,716 604,849
4213 SHAOI24H| (XI&AH) 8,636,106 6,850,657 1,785,449
4214 ARATHEHI(XI 2 AL) 8,851,206 8,433,494 417,712
4215 AR & SH| (X2 M) 13,329,480 11,292,506 2,036,974
4217 A (X2 AY) 3,834,075 3,267,525 566,550
4218 SIEAFINLH| (XIZAHY) 50,000 200,000 -150,000
4219 AP AIE FHHIHI(XI & AtY) 1,234,432 1,886,390 -651,958
4220 N2 SAtBI A= =EH 7,510,423 4,401,548 3,108,875
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4228 J|Et WS 2ZHI(X LX) 2,521,650 867,555 1,654,095
4280 A2 SMEHIMSREN 1,679,519 1,353,931 325,588
4281 JIEtXI & S AL HI 1,679,519 1,353,931 325,588
5,996,519 6,096,869 -100,350
4510 2t EHIAIEBI A== EXH 3,409,589 3,477,404 -67,815
4511 QA8 (2r&Hl) 2,651,785 2,510,404 141,381
4512 HNL SELUS(2HE) 757,804 967,000 -209,196
4520 2ZHEHIAIE XIS HENH 2,482,930 2,515,465 -32,535
4521 J| 23S X & ZHI(2EHI) 1,682,939 1,957,009 -274,070
4522 A EHE = 2| (2tEHI) 484,791 257,956 226,835
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HE = _ Z=2toH
= = = Z=2 04 (A) 2 0AHH (B) (A - B)
4611 ollBl bl 600,000 600,000 0
1200 EXNHESZ2QSA=RENH 5,118,823 5,622,976 -504,153
1210 EXNAAXI & 300,000 300,000 0
1213 EXNSAERXE 300,000 300,000 0
1230 REAMHSIE 4,338,823 4,842,976 -504,153
1234 J1HDIH =S 4,001,740 4,246,320 -244,580
1235 HJIHIBHS 337,083 596,656 -259,573
1240 REXMFSIE 480,000 480,000
1241 XA THAHE FH S 480,000 480,000 0
2200 MR ESCROISHNSREN 60,000 60,000 0
2210 22l &bt 60,000 60,000 0
2211 dHESS 24N 60,000 60,000 0
4700 J1Z2 Tt= 38,120,628 28,501,979 9,618,649
4710 D122 Xt=2 38,120,628 28,501,979 9,618,649
4711 J122 T3 38,120,628 28,501,979 9,618,649
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(= E-L=))
2u= = oH (A) =0 At (B) SN &5 2 A (293
2 &t = (A -B)
0 HROIPLOl(MEEA) -2 D (2RI L AY) 130,000,000
3) ZLIIJIHIE (HF2 R ALY 2,100,000
|'||g}iﬂmTkl APEOT T ZE U8 JT8 AU e =8 —2.100.000
2. JIEt 500,000,000
1) SIS eIDHI AN (2 TH) 500,000,000
o HEOIP4ol(ASHE)-D|E} 500,000,000
1,215,346 677,806 537,540
1,215,346 677,806 537,540[1. X X7 500,000,000
1) QIS HIAN (212 HI) 500,000,000
0 NFBAS (MEHHE)-X XHA 500,000,000
2. NE2AFA(MEFH) 37,540,000
1) HUBAI (L 4=2) 37,540,000
0 2023H = WHI(8~12%H) 37,540,000
800,000 1,000,000 -200,000




Ja= = 4 (1| AFOH = ()| AFOH ST Ab = jun} cto 2|
= = = AN A (A) 20l At (B) (A-B) E =2 A (=1 &)
5134 XIAITH AR O] 600,000 600,000 0
M9
5135 = otR0| & 200,000 400,000 -200,000[1. =5t2 -200,000,000
ol
1) JI&0| AR (D& R2) -200,000,000
0 -oIRO0| M0l & =20 24 -200,000,000
784,738 1,035,702 -250,964
5141 AH|XHAALZ 494,738 675,702 -180,964(1. My AR 2 201 -180,964,000
g9
1) CHZIEHQER XI K| & ALALY (RHH|221) 6,600,000
0 ST ANNS SN E W S SN AS 6.600.000
& AI-R(2023 NR 27 ) ' ’
2) EHQERBOIAIE MIE (ZHH|2=21) -187,564,000
0 AlIE =9 2t -528,000,000
O BT 0= T L SN e 80 7R 340.436.000
5429 , ,
5142 g+ 290,000 360,000 -70,000|1. el z 40! -70,000,000
1) 2S3(aE]) 70,000,000
O NZEESESE OS82 U SESITE O ~70.000.000
A QITHE 01 2+ A U




Z=D}OH
=2 AFOH = (Y| AFOH Sa ™, AF = a cto 9|
= = ZH0IAH (A) =0jl A (B) (A - B) = 2 ) (u49:9)
248,600 240,000 8,600
5181 JIEHAtSIE & 248,600 240,000 8,600[1. J|EtAtEIE 220l (AtEHE &) 8,600,000
A Ol
1) LINC 3.0AIHSH(SEHHZAHLEE) 8,600,000
0 LINC 3.0AHRi €t 8 & X| 2 £1-460(2023.09.27.) 16,728,000
0 LINC3.0AIE S EE HEE 2 -8,128,000
200 2220l 58,627,559 50,703,503 7,924,056
48,986,516 45,717,535 3,268,981
5212 3R ARAL9] 48,272,387 44,570,111 3,702,276|1. 21 63,800,000
(X&a3)
1) HUBAFZ (4 22Hl) 16,800,000
0228 HtEIL olMEIE 16,800,000
2,400,000&X7Y
2) LINC3.0AFZE &H(=12) -53,000,000
0 LINC3.0AIH & 2XtE & S DA H| 2N -53,000,000
3) SWS A CHSH(XIXHAI) 100,000,000
o SWEAUEAIS 100,000,000
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[
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0o
Jo
I
> O
(S
@

& E 2 A (29 R)

2. 22(Xl

0

SH2IHA TN ALS) 2,851,553,000

1) 2P HIAF (S 7 HI)

2,000,000,000

O g rTarr AANES] =5 NS (=TT T INE AT
o)

2,000,000,000

2) J1=0l & AFY (A 2HI) 2,003,000
0 JI=0I ™AL 3 AIE1-58(2023.03.10.) 70,000,000
OIS X J=NESS SINETS - 2 000.000

ANR(2023 NR 10) YR
0 0T === BRIDGET TTAZT 269,997 000

(9220:00NA1Q 222CNNNATR) R

3) SAD|HAEHE S ALY (21 72HI) -90,000,000
0 370 T NES] =3 AT S S ITT T INZ AT ~90.000.000

o) YR

4) HEENSUHEEATHZ A 6 CARHE (2 2HI) 442,000
ob5AHEE =21 MEY| 142,000
o 5XESE =1 Ol A&t 300,000

5) HIZHH A (HHI) 100,000




(G2 - & &)
Ae 2= EZ 0l (A) =0 404 (B) =8 o & 2 A (EE)
2 &t = (A-8)
o Ol Xt 100,000
6) SWE Al [ 8t AL EH( & 1 HI) 950,000,000
0 SWE A/ (13} AH E-2(2023.08.09.) 950,000,000
7) S HE (HI2 R AFY) -255,000
|-||t:1_+i|m_r1-| ArEdl 28 EZE UE JIg AU e =5 ~255.000
8) EYLIIJIMIE (21 2HI) -10,737,000
0 20238HEH T ALIH| O& XX -10,737,000
3. XIAHA 32,000
1) CHZIEN Q& XI X 2488 ALAFR (2 1) 2,000
aﬂNc_)qL{HQﬁotgﬁ;;;?l:g“_lﬂm UICH oRS (LIS EH S Al = 2.000
2) NEENSUHEEATF A &M CARHE (2 2HI) 30,000
0 5XHE & X XHAl OI Xt 30,000
4. JEt 786,891,000
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=

0
=

o

=2
= ST = A= D 2
B & = N (A-8) _ -
DEEEENEIEET) 600,000,000
0 HRAP4O(NED)-DIE 600,000,000
2) J1Z 0l ™A (21 H) 13,651,000
0 Z8Es % =N SIS 13.650.000
ANR(2023 NR 10 )
0 LI Xt 1,000
3) HXI A (HHI) 173,240,000
0 EXI¥E-79(2023.06.14.) 78,000,000
o HAMEHHHE X A 90.240.000
0 SCOUTAIY ZA=E (1S X2 5,000,000
5213 MM RS IR =R PSSO ~438,295,000
o (xea)
1) SIS eI DHI AN (2 T2H) ~400,000,000
o MAT AR (XB)-AAM AR 400,000,000
2) SAD|YAEHE ALY (2 2HI) 10,000,000
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o MRS (XIAS)-ASHH P 10,000,000

3) NEENSAEEANE M) & HR 7,805,000

o5XEE AN X3 7,705,000

o 5XtE & A O Xt 100,000

4) HIZHH AR (S 2HI) -10,000,000

o JIgH 232 -10,000,000

5) LINC3.0AFZ EH AL JI S 204 A) -52,100,000

o UINC3.0A ST MBS0 2o 752,100,000

6) SWS & THSH(AFS HI) 11,000,000

0 SWESAHE AL 11,000,000
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02022 I M KRN LAHAAIS S DB} QIMEE 10,000,000
02023 RPN LALAIY 2D 2T 2 35,000,000
3) 4SHHIBK21 AL E (212 HI) 362,641,000
0 AR T AFRIH B 362,491,000
0 4T 01X BHey 150,000
H‘TJ‘ TOCTAT 2SS Ol ST 88 WS Ao (A7 159,019,000
0 4XHEE AIZHI ZSUOZ QI8 2D 4 Zo 159,019,000
5) 222 SOAIOH SAIQITHY A DS REH(A7HI) 42,044,000
0 A S 42,044,000
6) 2= DIHRIS R 3 AIOITH A AP EH(S1RHI) 140,501,000
ST EEL, 92,030,000
oolg 48,471,000
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